ARBETSBLAD 80 MATEMATIK () Alfa

Rakna med vikt (1)
Hur mycket fattas det for att det ska viga lika?
1 a) lkg=7hg+__ hg
b) 1kg=_ hg+8hg
c) lkg=3hg+2hg+_ hg
d) 1kg=4hg+_  hg+4hg
2 a)2kg=12hg+__ hg
b) 2kg=___ hg+6hg
c) 2kg=15hg+2hg+__ hg
d) 2kg=4hg+__ hg+11hg
3 a)lhg=50g+__ g
b) 1Thg=10g+___ g
c)lhg=_  g+65¢g
d) lhg=5g+__ ¢
4 a) lkg=450g+_ g
b) 1kg=50g+__ g
c)lkg=5¢g+__ ¢
d)lkg=_  g+180g
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ARBETSBLAD 80 MATEMATIK () Alfa

Rakna med vikt (I)

FACIT

1 a)3hg
b) 2 hg
c)5hg
d) 2 hg

2 a)8hg
b) 14 hg
c)3hg
d)5hg

3 a)50g
b)90 g
c)35g
d)o5g

4 a)550g
b)950 g
)99 g
d)820g
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